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Section 1.2 - In class example
Math 151 — Spring 2018

1. Annual revenue R from McDonald’s restaurants worldwide can be estimated by
R=19.0+2.0¢

where R is in billion dollars and ¢ is in years since January 1, 2015.

(a) What is the slope of the revenue function? Include units. Interpret the slope in terms of
McDonald’s’ Revenue.
-T'f:ca Slop_ 13 2.0 b llow Ab"ar's ra aw

Mc.Donald's  rfereaue 1 ]Wsucj aF a rale D«f— 1.6 bilies ddlan @ Year -

(b) What is the vertical intercept of this function? Include units. Interpret the vertical intercept in
terms of McDonald’s revenue.

19.0 billiew dollens
ln 2005, He tveme~ 15 |Gbd. dolla

(c) What annual revenue does the function predict for 2020?

R5)= )92 + 25 = 29 Billw dsllee

(d) When does the annual revenue hit 35 billion?

Subchbde Rz 25 aud Sove for F
3 =z 19 +2E
It =26 > Ez5 , In 2027 He rvenue hits 35 billiew.

(e) Suppose instead, the annual revenue on January 1, 2015 is $23.5 and grows at a rate of $3.2
billion per year. Write down a function that describes the revenue over time ¢ in years since
January 1, 2015.

Rip) = 82 23.5 + 32t



